=5k E176S4 UK

BTFEaTE WoEEE (7)

ZIEE

{EIE HER : 114/04/11

H&X| frE | QID JRAZE B AE
8-27 | 5 6 i 387099 |- U(E BB 2 (A)0AV-- IEEERL R 2 (A)0.6V--
+15V +15V
10-73| [El(1) |376559 - .
—15V ~15V
\ MRS - ERUERROR S5 L A
74| = 88 R I - ;
11-74| 55 8 [ (376800 |- 32 - [ % BRIV » e
6. (1) g :(ch*Vn) 6. (1) gm = 2Ki(Vgs1 = V)
=[xJa.8-1 = [LomA/v = 2x2x(1.8-1) = 3.2mA/V
(2) gz = (Vcsz V) (2) gz = 2K5(Vgs2 — V)
=[2x42-1 =[2ma/v = 2x2x(2-1) = 4mA/V
_ &mfp _ 1.6[x 4.7 _ gmBp _ 3.2 x47
S 1+ g,,Rg 1 +[6]x 0.68 (3) 4y 1+ g, R, 1+3.2x0.68
- = —4.74
S
@4:,:, H:ngﬁjg 387099 (4) 4, = - EmaRp2 _ X3 (4) 4, = - EmaRp2 _ 4x3
-11 | 55 6 % T T ligaRy | 1+Qx2 T ltgnRs  1+4x2
=Ei2 - 133
(5) A\T = ‘/70 = A\’l XA\2 (5) A\»‘T = :’/70 = A\’l XAT'2
=[36)(-12) = 4.37] = (~4.74)(-1.33) = 6.3
Alv, = Apv, =[4.32]x 100mV Alv, = Azv; = 63x100mV
- [0432]v =063V
2ox
ﬁﬁ; kzi Sﬁi 387100 :\(—4x4.7)(—8x4.7) z706\ = (—3.2x4.7)(-4x3) ~ 180.5




Lo L E176S2-Y1 FAR 2 Jil

BFESTE BowEs (T) s

ZIEE

[EIES%N

{&1F HHA : 113/03/06

HX| frE | QID RAZE FHEBAR
%@7 % 25 5 | 376046 |-+ RJ=90kQ - o Rp=90kQ -

BETESEYE moeEs (T) g &4

{EIEREH
9% 1 E176S2-Z1 PR EIEHHH : 113/03/06
HX| frE | QID RAZE FHEBAR
| 108 |387003 () SRR 5 (B)---$%5 OPA HIiERS BEIERS 25
%;7 4 25 1 376046 |-+ R =90 kQ - o Rp=90kQ -
%8| 5 01 5| 387094 |(C)+- T, = . (C)- £, = .
& = 27 (L +L))C 27 J(L+ L, +2M)C

%; 5 13 [ | 387005 |- (C)fEJE 1 = R - - (C) BRI B = R




